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08 15 Ali is buying a speedboat at Betty’s Boats. 

 

What is the amount of interest Ali will have to pay if he 

chooses to buy the boat on terms? 

 

(A) $3200  (B) $5600 

 

(C) $19200  (D) $21600 

 

 

1 

B 
          Deposit = 15% of 16 000 

   = 0.15   16 000 

   = 2400 

 

     Total repayments = 320   12   5 

    = 19 200 

 

      Total cost of boat = 2400 + 19 200 

    = 21 600 

 

         Interest = 21 600 – 16 000 

   = 5600     Ali was charged $5600 interest 

 
 
* These solutions have been provided by projectmaths and are not supplied or endorsed by the Board of Studies 
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